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	Monday 2.6.17: Answer each question below. Show ALL work for full credit.
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	Tuesday 2.7.17: Answer each question below. Show ALL work for full credit.
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	Wednesday 2.8.17: Answer each question below. Show ALL work for full credit.
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	Thursday 2.9.17: Answer each question below. Show ALL work for full credit.
[image: ]
[image: ]






image30.png
1 Which equation represents a linear function? Choose all that apply.

A y=xx
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5 While Jenny goes on vacation, she puts her two dogs in a kennel. She pays a flat fee of
$20 per dog and then pays a certain amount of money each day for each dog. If she leaves
the dogs for 5 days, the cost is $540. If she leaves the dogs for 7 days, the cost is $740.

Part A

Write a linear function to model the relationship between the number of days, x, at the
kennel and the total cost, y, for one dog.

Show your work.

Answer
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What is the sum of all the integers between 19 and 77 ?

On a number line, let point P represent the largest integer value that is less than
407. Let point Q represent the largest integer value that is less than V68 . What
is the distance between P and Q2
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3 The graph shows the height, b, in inches, of a plant after d days. The
plant had a height of 4 inches after 6 days. Which equation can you use
to represent the situation?

n
A h=4d [
B h=6d
c h=3d
D h=2d
3 0 2 5w 6

Stephen chose C as his answer. Explain his error.
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What is the value of 0.36 « %7
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Consider the three linear functions below.

x |y
3| 16
0 1
4 -19

Compare the rates of change for the 3 linear functions. Which graph would have the steepest

slope? Explain your answer.

~2x-y=10
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Which equation defines a linear
function?

A y=%x+u
B y-x+dx-6

C xip=16

I
x oy




image3.png
1 Which equation represents a linear function? Choose all that apply.

A y=xx





